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1: 647 + 206 4 576 - m o e e e e 1=
2: 163 + 839 + 372 merrommm oo oo emmmenno oo 2=
3: 527 + 892 — 308 - oo e m s m oo o 3=
4: 192 + 461 + 489 + 540  -------mmmme e e e 4=
5: 600 + 124 + 130 4+ 620  ~-cmm o m oo oo 5
6: 0.699 — 72.5 4 2.27  —mmmmmmmmm oo 6=
7: 779000 — 331000 + 8370 - e e 7=
8:  9.08 + 57 — 0.473 + 38.7 ~-crrr-m e 8=
9: 299 X 3.81 /4,34  m oo oo n oo 9—
10: 445 x 0.348 x 0.967 7/ 0.656 - -ccimmmmo e 10=
11 Find the prod'uct of pi-cubed, 11.7, and the square root of 5.2, ~------muannn 11=
12: A swimmer swam 22 laps in the pool. Each lap covers a total of 24 meters.
How far in total did she sWim? - - oo oo 12= meters
13: One day, the lake level was 956 feet. The next week, the level was 993 feet.

How much did the lake rise in this week? --eceemma i 13= ft
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14: (7T % 28) — (0.403 x 0.433) -----mmmmmmmmmmme oo 14=
15:  (0.743 x 0.0803) — (0.0711 % 0.342) ~---m-mmmmmmmoooomo oo 15=
16: (246 + 7 — 86.2) — (78.2 = 283) -----mmemom oo 16=
17:  [8.17 — 9.86 + 44.3] x (345 —~ 69.7) --v---rmomommomommemeeomenemnoooos 17=
18:  (9.25 + 4.82) — (74.6 — 7) + (45.9 + 46.8) ---------------m--seamoonoooo 18=

26.2 - 30.5
4.29 + 0.72

1S: 22.7 x [ ] —————————————————————————————————————————————————— 19=

0.984 — 7 + 459  0.629
20: 101 - 5.87 | 577 T TTTTTTTTThoroTTTommoommommmer 20=

21 (8.85)(—880)(—684 + 57.1) ___________________________________________ 21-
-7t JV8.63 4.08
(1.08 + 34.4}{55.4 - 0.899)
22: (4.02 + 0.101} -------mmemmmmmm e 22=
2.68x100
{537)(30.5)(2.02 + 74} (9.25 - 1.8)
23: e e 23z
51.7 7.17 - 5.81
24: A cookie sheet is a rectangular pan, 16 inches by 10 inches. Each cookie is
ptaced on the sheet with centers 2 inches apart and 1 inch from the sides. How many o o-
cookies can be placed on the sheet? ----------u-cmoocmommnroom oo oo 24=_____ (integer)
25: A flock of geese migrated from southern Canada to south Texas for the winter,
a distance of 2670 km in 28 hours. What was their average speed? --«--r--------- 25=_ ... km/hr
26; An ice cream vendor needs to raise prices 22% to fight inflation. Originally,

an orange dreamcicle costs $2.40. What will the new price be after the mark up? -- 26=%
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27:  (8.56x1078) + (8.46x1077) — (5.64x1079) —-r-oommomioiio 27=
0 5.85 - (0.308 — w — 0.036)(0.0361)
28:  (8.73x10 )x ------------------- 28=
{6.07)(-0.089) (-7.98)
29: (51.3)(98) + (51.3}(48.8 + 57.4) + {51.3}(83.9 — 88) -----------o----- 29=
46.1 -43.5 79.6
30: - el B R 30=
976 © 1340 [6220 39.2
-0.473 0.796}(0.0308
31 —(—————)— - {1/0.53) - ( i 31=
(0.00389)
32, 1/7.29 } N [—6.42 -82r 39
0.727 - 1.4 - 0.509 4.68/0.734
1 (0.157)(0.244 — 7.05 — 7)
33: X e - 33=
{rt + 2.65 + 7.49) (-1.34){0.259 - 0.223 + 86.2)
1 -3
34: —>—(0.333 ~ 0.652) - {9.99><10 ] ------------------------------ 34=
1/{-6.96)
35: A farmer sold a heifer at auction. The cow weighed 440 pounds and brought
$1.56 per pound. The auction house charges 2.75% of the sale price plus $3.20 in
commission. How much did the farmer earn after all auction house fees? ~--------- 35=%
36: The number of dairy farms decreased from 7290 to 7070 in one year. What
was the percent decrease in dairy farms? - - - - - m oo e e 36= %

37.

37.

SQUARE

Area=7?

38. CIRCLE

Circumference = 4.32

38.
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39:  (45.2 — 9.37 + 1.73)2 / (8.27 + 0.233) --nmommmmmmmmmmimmmee oo 39=

_33.6\2 [1.93\2
40: — == 0. 0823) oo 40=

(_90.2) x(ztz) + (0.0979 + 0.0823) 0

1/1.56) + (1/0.233
a1 ) + ( ) _ (1.32)% oo mm e 41=

(1/0.23)

v0.723 2 0.241 V0967 + 8.2 0.562

42: + 4 e oo semmmnc o m—eeee 42=
3.39 3.39 3.39

43: /567 — (430)(1.87) + 705 - --smemmmmmm oo 43

(5.17x10°} - (2.11 x 10°)
44: e e 44=

(0.997 ~ 0.366 + 1.69)2

(1/0.455)2

45; x [(0.062)(0.0416 + 0.0727)] ----=umm-mr----- 45=

0.667 - 0.946 + v0.0723

1/ 0.821) + (0.824 + 2.04
46: (1.28><105) 2 (8..42><107)1"2 + ( ) + | ) e 46
(0.116 + 6.28) / {(0.836 + 4.74)

47: At a football game, the ratio of home fans to visitor fans is 13:9. There are a
total of 1056 fans watching the game. How many visitor fans are there? ---------- 47= {integer)
48: A boxis 13 ft by 11 ft by 8 ft tall. What is the length of the longest possible
rod that will fit in the box? ~-----—-cmmr s oo e 48= ft
49. RIGHT TRIANGLE >0. RIGHT TRIANGLE

j— ? -

65.8\7
?
\/49.3

49. 50.
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51: 8é F B b 2 mm oo e oo

52:  (0.603 + 0.353 — 0.35)3 + (0.0883 — 0.936) w---ncrrmrmmmmomeooooo e

1 42 3 [31400 - 5980]
)

53:  (0.761)3 x {———
(0-761) x((0.761 0.761

54:  [(0.555) + (2.68)(0.0669)[1/3 + (3.61) ---mommmmmmmoo oo

55: %/(2.54x108) - (2.38x108) “;TQZ'G- ------------------------------

—468 — 32.4)(5000 - 722 .
56: { A ) - (496)0 638
{485 — 4760 + 5050} (1700 - 3890)

2
0.272 - 0.315 0.258
57: [\/ j e T T e m e m

6.26 — 69.6 87.5

s8:  (9.8) 0712 « (7.79 + 4.8)%912 _ (755 £ 87.2)  <oeecemceiceil

59 A company sells 8 oz chocolate bars for $1.25. Due to the 12% rise in
ingredient prices, the company must alter the size of the chocolate bar. What size
bar should the company make to keep the price the same and compensate for the
COSLINCIeaSa? - - oo o m s m oo oo m oo omeeeoeeesmemooo

60: A class has 13 boys and 10 girls. One student is selected at random. What
is the probability that the student is a boy? —=--ws-mcmmmmmmno oo -

55=

57=

59=

Oz
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61. RECTANGULAR PRISM 62. CONE
I
1.36
L\4 SS\J \/2’4
Total Surface Area =7 Volume =7
61. 62.
0.824 0.802 56900
: — € A mmmmm e e 63=
63 e e =630
64: (0.877 —~ 0.652)6‘3.13 ------------------------------------------------- 64=
0.153
65: (0'314) \/§&9+__0-5f2 _______________________________________ 65-
0.146 32.8
66: (deg) [tan(42°) + sin(306°)] x 661 -----------smemmonooo oo 66=
67: (deg) sin{51° — 267°) + tan(142%) ---r---omommmmmmiieo e 67=
tan{0.3) — {5)(0.834
68 (rad) 203 - BN e 68=
tan{2.72) + (5}{0.281)
5
69: (rad) (4.8x1072 - 3.7x 1073)’ cos(4.45x 1073)  <ourmmnmmmonnae e 69=
0833 0558  0.845)1/2
S I 70=
70 0.851
e
71: The formula for the nth hexagonal number is n{2n —1). Find the sum of the

first 9 hexagonal numbers.
72:

what is the cost of a 24 in by 20 in by 12 in box?

Storage boxes are priced according to their volume. A12inby 12 in by 6 in
box costs $2.56. A 16 in by 16 in by 6 in box costs $3.24. Assuming a linear model,

(integer)
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73. CONGRUENT RECTANGLES 74. CIRCLE AND
ISOSCELES RIGHT TRIANGLE

Shaded Area =7

73. 74.
0.88 — 0. 132 -0.
75: E( 8 O 556) x e(o 132 0 959) _ (327)( 103) ______________________ 75:
76:  Log[7.35 + 0.0571 + 0.0656 + 0.731] — Log[4.56 — 7] -------mnm-moccane 76=
Ln[7.43 x 5.42/7.77] Ln[2.78 + 6.94
77, n| x 1, Lol + | .
Ln[83.1}] Ln[51.4]

& 1 0.207 (0.207)2  (0.207)3  (0.207)% o

: - 0. + > - = + S T =
79 19 + 38 + 57 4+ ... £ B27  wmmmmmmm e 79=

g0 (aeg) V@07 % 109]] - {ZU2R
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1= 1430 14= 878 27=  884x10°8
1.43x 103 8.78x 101
2= 13;’70 . 15= 2.22)531(}“2 . 121
1.37x 23 1.21x10%
3= 1110 , 16= 32&2 . 59— 14300
dix 10 3.68x1 1.43x104
4= 166880 X 17= :11117700104 30- 210
1.68x10 17 % 2.1O><1{)1
5= 1470 5 18= §55.3 . 31= 124
1.47 %10 53x%10 _1.24% 102
6= —69.5 . 19= -199.5 101 32 14.9
~-6.95x 10 -1.95x 1.49% 101
7= 456000 ] 20= 0.284 ot 33- 000141
4.56% 10 6.84% 10 141 x10-3
8= 104 , 21=  -44100 ) 3= 2.1
1.04% 10 —4.41x10 5 21 % 100
9= 262 . 22= 2970 ; 38e 66432
2.62x%10 2.97x 10
10= 228 23= 24100
2.28% 102 2.41 x 10% 36=  3.02
3.02x 100
11= 827 24= 40 (integer)
207w 102 37= 310
3.10 x 102
12= 528 _
9.54x10 6.88x 1071
13= 370 26=  $2.93

3.70x 101
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